15 A (318) &H1=Y D Fl FHH

I fEIASMEIDES

R EEE AR —LESESE (YY)

eI |nmxs| Bea | Az | e
= F1ERRE | 25420 9,300 60,219
i) 25 299 EORRRE| 25420 12,090 63,009
51% ’ E3RME| 40610 20,150 86,259
FEARME | 61,070 42,780] 129,349
= F1EERE | 25420 9,300 62,454
i) 27734 FEORME [ 25420 12,090 65,244
ﬁ; HE3EEME | 40610 20,150 88,494
a EARRE| 61,070 42,780 131,584
> - Z=1mpE| 254200 9300 64853
o 30.133 FEORME | 25420 12,090 67,643
o "eampe| 40610] 20150 90,893
1'@ ? FAKRME | 61,070 42,780 133,983
£ = =1mpe| 25420 9300] 67,120
i) 32.400 FEORME | 25420 12,090 69,910
E;; E3EEME | 40610 20,150 93,160
FEARME | 61070 42,780 136,250
= E1ERRE | 25420 9,300 69,354
i) 34634 FE2RME| 25420 12,090 72,144
ﬁg EIRME | 40610 20,150 95,394
FEARME | 61070 42,780 138,484

X1 BERE.ZHE. AABARFIREZHNSE TV EEEY,

ER30E1081BIRAE
I BEZISHI 2B DGE

g% - ‘\X —

TET T |anxs| Bea | am | e
= 1Rk 25,420 9,300 72,220
N 37500 E2EBEE | 254200 12,090 75,010
51% ' IR 40,610 20,150 98,260
FAERS 61,070 42,780 141,350
= 1R 25,420 9,300 76,180
it 21,460 E2RRRE | 254201 12,090 78,970
E; | mamme| 40610 20150 102,220
a EA4ERRE 61,070 42,780 145,310
‘:y = =1Eppe | 254200 9,300 80,440
N o1 45,790 FE2RME [ 25420 12,090 83,230
s § T lwmampe | a0610] 20150 106,480
& FAERME| 61,070 42,780] 149,570
= = =R | 254200  9300] 99520
oix 64.800 52 ER 25420 12,090 102,310
5;; TVl w3Ekpe| 40610 20150] 125,560
EARME | 61,070 42,780 168,650
= 1R 25,420 9,300 103,988
i 69.268 FEORRME [ 25420 12,090 106,778
552 ' %) 241 40,610 20,150 130,028
FEAEERE 61,070 42,780 173,118




1/ A (318) B4 DREEFI AL
BRI BEEANR—LEBIE (AR
TRE30F 1081 BIRE
I fEBFSAENDHE

NE Y —ER

e |REES| BER | an | &

=111

F1ERRE | 25420 9,300 111,217
;% 76,497 EORRRE| 254201 12,090 114,007
51% ’ E3FRME| 40610/ 20,150 137,257
EAERRE | 61,070 42,780] 180,347

B 1ERFE 25,420 9,300 117,922

;% 53,202 E2RkRE | 25420 12,090 120,712

ﬁ; EIERME| 40610 20,150] 143,962

a EARRE| 61,070 42,780 187,052
‘:y = w1Epe | 254200 9300 125119
N I F2RRME | 25420 12,0001 127,909
E ; O S mm | 40610 20.150] 151,159
& FARRE| 61,070 42,780 194,249
£ Z1mpe | 254200  9300] 131,920
;% 97,200 E2RRRE | 25420 12,090 134,710

Eff E3ERME | 40610 20,150 157,960
FEARME | 61070 42,780 201,050

= E1ERRE | 25420 9,300 138,622

i) 103,902 FEORME | 25420 12,0001 141,412

ﬁg EIRME | 40610 20,150] 164,662

FEAERE 61,070 42,780 207,752

X1 BERE.ZHE. AABARFIREZHNSE TV EEEY,



MEEB—=

R EEE AR —LESEE (YY)

ER30F1081HIRAE
&%
nEZ IEEH
T E S E Do E PP o E PR
O |BEARMET 1 12 24 | EEDEEME 1B LULEREL TGS
B T T . BB E OB S A R 1 L
g | o |lwomamEmen 16 92 138 %E%%’ A-yEHER T, REBE DS HBAREEEZ 1L L L ER-TLY
fid
B
= | o |v—crizptmsEamE 1 « 18 36 SABEFFDONEMEDNSID. NEFBUTDHEDEIEEHN60% L EDIGE
2 | o lgmerosorme 14 28 12 ﬁ%ﬂ]@%iﬂfﬁ?i@ ANULEEBREL., RBYTEHEEER. *BEEEFEE-
= FLTULBIEE
= ERYNEME 144 288 432|3ET=H LIET4~30H
Iff ERYNEME2 680 1,360 2,040|ETCEHDEIB -7 < B
ERYNEMES 1,280 2,560 3,840|3ET=H
z PEIME 30 60 903| AFTBAtA B A 530 H LLA D HARS 2 inE
D S\ EBER 246 492 138 mEBREANABRLI-G A& F-IEBELGEANALI-GE (B6BERE)
fi EEERAEATESAMNE 20| 240 00| BERREEDAEZTAN. Y—ERAERELLBE
i EE%‘EM@E#‘EJ%%}EI:&E%ng%ﬁé%ﬂ%ﬁ%o)‘ﬁﬁag%%:’égégﬁbn\é
% @ ﬁ%%ﬁéﬁﬁﬂi%ﬂﬂ%ﬁ i 6.0% 6.0% 6.0% E?é%@ﬁl}_%g%%ﬂ%'»@[f&f:?ﬁﬂiﬁﬁ%%**m*ﬁﬁﬁﬁgb\ )\Fﬁ%l»ﬂb"j—_
& [(NHES—ERB]+[NEREME LIS DIME] X 0.06 TEH
X1 OIFEENE. ZHRRERCNRELG LB S I MBERYET ,
2. MNEICDOWWTIE. 1BFIEX1ESHEYOER () ELRYET,




